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|x—y—2|+x2y2—xy+}‘20 ) |x—y—2|+(xy—%)2=O 15 x-y=2 > xy:%

() =(xty) +Haxy=22+4x:=6 i A -

2 2

2.% a~ b B _a*=4at9 > b*=4b+9 > * a#b > EJ; %L w5 o
172 172 172 172
(A) - —(B)— ©) - —(D) —
<fE47>
a*-4a-9=0 ~ b*-4b-9=0 > a ~ b F*H_x*-4x-9=0 142
a+b=—?=4
ab=?=-9

0] a>+b2=(a+b)>-2ab=4-2x(-9)=34

B & B+ (atb)(dP-abtb) 4x(34+9) -172 .
—_t— = = = = Y A o
a b ab ab -9 9

3.3. It is known that the integer part of v/23-1 is @ and the decimal part is b, then the value of

4a+3b is . (A)2+/23 (B) 323 (C) 4v23 (D) 523
< ﬁ;’ 7>

BRI A a=\23-1=4-1=3
| BeR A b=\23-1-3=\/23-4
. 4a+3b=4x3+(\23-4)x3==3+/23 > ¥ B o
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4a+5a=20
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A
5.4c® > &/AABC*® » LABC=60° ADX i~ /BAC %< BC*" D #. > CEX A
L ACB % AB** E®8. » AD ~ CE% ** F 8. » £ AB=2AE » B'| ~ BEC=? y
(A)85° (B)88° (C)90° (D)92°
B C
<f#{7> b
""CEX » LACB=>» L ACB=,BCE > * E 5 ABz *° %
/ACAB ¥ %% = 4 2,9AC=BC * £ ABC=60°
S.ACAB & = &35
PICE®E & = 425} ehg = /BEC=90° > % C o
6. 4Bl > B &£ LHE K P 5 4(2,-7) > B(6,-1)~ C(c,0) ~ DO, d) > Bz &
25 ABCD % £ B B % o (A)4V2+2/13 (B) 5v/2+6V13 A )
(C)IW2+3VT3 (D)8V2+2V13 b B
<)§’2Hfr>
$ydh o F A SR A2, -T) \
$x b0 KB R B, 1)
y=ax+b
-7=-2a+b
1=6a+b

8=8a > a=1 > b=5¥y=x-5(% C~DH &I AB'the H > f2}+ » Tre ZBLX )

% £=AB+A'B'= \/ (6-2)*+(-1+7)*+ \/ (-2-6)°+(-7-1)’=V16+36+/64+64=21/13+8V2 » i¥ D «
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FaE2? (A)516 (B)498 (C)510 (D)504
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DIVFR-T PR = e PR T bR

=6!-(5!4+5!-41)=720-(120+120-24)=504 > :£ D o
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8. If the two roots of the polynomial equation ax?+bx+41=0 with integer coefficients are different
integers, and >0, »<0, then b= .(A)42 (B)-42 (C)43 (D)-43

<jaie>

AR EERR o

a+ﬁ=ﬁ ’aﬁ=ﬂ

Da=1--1~41 -~ 41(B 1)

®a=1 - aﬁz“l—l=41=1x41=(-1)x(-41)

a+ﬁ=?=42 A 42Db=42 & 42(% L)

@ a=41 > af=

= 1=Ix1=(-D)x(-1) (7 &) & B -

41
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£ a=1x3x5x+++.x2021x2023%2025=25x % i % # x
+ Hc x4 A 1 B 3=x=4k+1 & 4k+3
(Dx=4k+1=a=25%(4k+1)=100k+25
@x=4k+3=a=25%(4k+3)=100k+75

(1x3x5x7)+4 &= 1 [T (1x3x1x3)+4 4 1]
(Ox11x13x15)+4 4= 1 [ T (Ix3x1x3)+4 4 1]
(17x19x21x23)+4 4 1 [ P (1x3x1x3)+4 4~ 1]

(2017x2019%x2021x2023)+4 4 1 [ T (1x3x1x3)+4 4 1]
2025+4 4 1

C.a=1x3x5%++.x2021x2023%x2025+4 A 1x1xIx---.x1x1=1
a=100k+25 » k& = HH_25

2.4 > B P L % B AABC *h - 25 ¥ PA=6 > PB=9 > R|PCd. ~ &5 |
<ﬁ7¢7‘+’fr>

#-/\PAB ¥t B 818 P& 558 60 & > 3| ACP'B » 1% PP’
o BP=BP’

P'C=PA=6

~ PBP'=60°

./\PBP': % 8= &7

PP'=PB=9

. PP+P'C=6+9=15> % P~ P' - C X APFEPCEH =~ > £+ E=15
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999936=105-64=10°-26=(10>-23)(10*+2?)

—(10-2) (10>+10x2+22) (10+2) (102-10x2+22)

=8x124x12x84

=29%32x7x31

?'ﬂﬁiZZ ~3~7~31> Bl atd=2+31=33

4. The remainder of (4x*+ax-3)+(2x-1) is -5, then a=
<fE47>
(4x*+ax-3)=2x-1)O(x)-5

1 1 1
£ x=> > 1+=a¢-3=-5> =a=-3 » a=-6
2 2 2
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kx=x+7

(k-1)x=7 » * x ¥ & #c

k-1=1 x=7 &% k-1=-1 x=-7 & k-1=7 x=1 & k-1=-7 x=-1

T k=2 x=7 &% k=0 x=-7 &% k=8 x=z &% k=-6 x=-1

2 k=07 g
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6.3 — B p Ric> Bv ﬁﬂﬁw\i@ﬁﬂﬁi—?ﬂ*ﬂ“f (8180 - BATH FR¥EEATERNSTE L&
g iE Eengo ] p R¥Ecs °
<f&47>
B W pExx10m+y
# by
xx10"+y=5Ty=>» xx10"=56y » xx(2x5)"=2xTy
B BicB ) dn=3 » xx(2x5)’=2xTy » 125x=Ty
Sx=T S =125 0 PR #=T125

7.% p~q L H > 2 Fixtipxtg=0sh- RENANZ 0 Blpg=_ o
<f#{i>

x=\4-243=3-1 » & ¥ - 42 4 -/3-1

x=/3-1 7 x+1=/3 » (x+1)2=3 » x+2x+1=3 » x*+2x-2=0

p=2 1 q=2 B pg=2x(-2)=-4

International Mathematics Contest (Taiwan) #E5(8 TE4K)



8. e —I‘r'x—l—i—\/——i—\/_ 2l +—+ mxg‘p °
[a*-b*=(a-b)(a*+ab+b?) ~ ()ccz+b)3—a3+3a2b+3ab3+b3]
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1 By AB-y
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(1)40x-—=18 » 40-18=22

(aﬁ&¢bw%x%’ﬁ%gg%

=25 90+5x=12043x » 26230 > k215
3 N 153
2.1fa, b,— sl 3‘;1 are all positive integers, and a>1, b>1, find all possible values of a+b .
<)§'¢7}fr>
3l;l—x ’3a-1:y » B ox % ;J} ﬁ’r:@’i
3b-1 3a-1
—x-)ax—3b 1 ; —=y=>by=3a-1

axxby—(3a— 1)(3b-1 )—9ab—3 (a+b)+1—ab(9-xy)=3(atb)-1

J.abl3(atb)-1 > £ 1<a<b (2<a+b)

ab<3(atb)-1<6b > & 1<a<5> Hla=2~3 -4~ 5

% a=2 > b|3x2-1=5 > b=a=2 > #& b=5 > P| 3b-1=14 &_2 1z & > & atb=2+5=7

% a=3 > 33xb-1 7 = =

% a=4 > b]3x4-1=11 > b=a=4 > #& b=11 > P| 3b-1=32 H_4 eniZ # > & atb=4+11=15
% a=5 > b|3x5-1=14 > b=a=5 > # b=T7 & 14

Db=7 > B 3b-1=20 &_5 ez B » < at+b=5+7=12

@b=14 > | 3b-1=41 *» &_5 iz #

A1l q+b=T7 ~ 12 & 15
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